FALL, 2015. MATH 131 NAME: A‘v‘w TN CALCULUS II: DAY 04

Hand in next class. These are (almost) the same as the WeBWorK Day 04 assignment. Do them together; check your answers!

1.(a) Fill in the following table for the Riemann sum using regular partitions and right-hand endpoints.

f(x) la,b] | Ax | xp=a+kDx f(xz) Write out Right(n) = i f(x¢)Ax (Do not simplify yet)
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(b) Simplify Right(n) = ) f(x;)Ax. No sum should appear.
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(¢) When f(x) is continuous, this limit is denoted by [ ab f(x) dx. Here we would write foz (x—1)%dx = Jim Right(n) = % 2,

2.(a) Fill in the following table for the Riemann sum using regular partitions and right-hand endpoints.

f(x) [a,b] | Ax | xp =a+kAx Fx) Write out Right(n) = Z f(xx)Ax (Do not simplify yet)
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(b) Simplify Right(n) = ) f(x)Ax. No sum should appear. This simplifies a lot!
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(4) [Hint: See Problem 1(d,e).] Here f(x) is continuous, so f244(x -2)3dx = RQaua Ro %\A—’{‘ (D = L Vv 3%, enip
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(@) Fill in the following table for the Riemann sum using regular partitions and right-hand endpoints

E f(x)Ax (Do not simplify yet)

f(x) | [ab] | Ax | xy=a+kAx f(x) Write out Right(n) =
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(b) Simplify Right(n) = Z f(xx)Ax. No sum should appear.
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(d) [Hint: See Problem 1(d,e).] Here f(x) is continuous, so foz a2dx= R WAL “.Q-Z" - g\f - \_% = T2C°
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4.(a) Fill in the following table for the Riemann sum using regular partitions and right-hand endpoints
n
fxe) Write out Right(n) = Y f(x,)Ax (Do not simplify yet)
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(b) Simplify Right(n) = Y f(x)Ax. No sum should appear. This simplifies a lot!
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(d) [Hint: See Problem 1(d,e).] Here f(x) is continuous, so / (X'\) dx = /Q LA T ”



